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QUESTION 1

You have provisioned an Autonomous Transaction Processing (ATP) database and logged into the ATP 

service console. 

What are three abilities that can be performed from this service console? (Choose three.) 

A. scale up/down the CPUs 

B. create ATP database users 

C. reset the admin password 

D. set resource management rules 

E. monitor database activity and SQL queries 

Correct Answer: CDE 

In ATP Service Console, 

In the activity screen allows you to perform some basic monitor database activity and SQL queries 

In the administration screen allows you to perform some basic administration of the service, like reset the admin
password and set resource management rules 
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QUESTION 2

Which two use Oracle dynamic routing gateway (DRG) for connectivity? (Choose two.) 

A. Remote virtual cloud network (VCN) peering across region 

B. Oracle IPsec VPN 

C. Local VCN peering 

D. Oracle Cloud Infrastructure FastConnect public peering 

Correct Answer: AB 

References: 

https://docs.cloud.oracle.com/en-us/iaas/Content/Network/Concepts/fastconnectoverview.htm You use a 

DRG when connecting your existing on-premises network to your virtual cloud network (VCN) with one (or 

both) of these: 

IPSec VPN 

Oracle Cloud Infrastructure FastConnect 

You also use a DRG when peering a VCN with a VCN in a different region: 

Remote VCN Peering (Across Regions) 
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QUESTION 3

What is the maximum CIDR range that can be assigned when configuring a Virtual Cloud Network? 

A. /16 

B. /26 

C. /24 

D. /8 

Correct Answer: A 

 

QUESTION 4

Which is a customer\\'s responsibility on an Oracle Cloud Infrastructure database? 

A. patching the database and OS 

B. creating the first default database on the DBCS server 

C. creating an ASM diskgroup for data file or temp file storage 

D. installing the operating system (OS), Grid Infrastructure, and database software 

Correct Answer: A 

On autonomous there\\'s no patching needed. But on the regular DB Cloud services you need to patch the DB and the
OS. During the creation on the OCDB the first DB is created automatically Oracle automatically takes care of Operating
system Installation/Configuration, Grid Infrastructure, ASM diskgroup Creation/ Configuration , and database software
Installation and first database on the DB System. that\\'s all when Creating DB Systems. and then the customer
responsible to apply the patches to the database and OS 

 

QUESTION 5

For a compute instance that is launched in a private subnet in a Virtual Cloud Network (VCN), which action needs to be
performed to connect to the Internet, assuming that the required security list is properly set up? 

A. Assign a Public IP address to the compute instance. 

B. Create and configure Network Address Translation (NAT) in a public subnet and route all traffic to it. 

C. There is no way for an instance in a private subnet to connect to the Internet. 

D. Create a default route entry in the route table to forward all traffic to the Internet gateway. 

Correct Answer: D 
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